OPERATING DATA

FOR THE
MODEL CA-5 ADAPTER

WHEN USED WITH
MODEL 533A-600A-605A
ROLL CHART TUBE TESTER

VI GHOKS

— e

NOTE 1: (symbol "&' on Roll Chart) Read on ENGLISH scale, only.

NOTE 2: (symbol "#" on Roll Chart) Set BIAS at 100, press and hold
down button indicated in PRESS column while rotating BIAS
dial until tube strikes.

NOTE 3: '"Cut off" tube section NOT being tested by means of a 30 to
35 volt battery (Eveready 413, or equal). Polarity and con-
nections are indicated in the NOTATIONS column: e. g.,
NOTE 3: T-, 2+, indicates connect negative lead to pin 7 and
positive lead to pin 2, of any convenient socket on the tester.

CAUTION: Disconnect battery between any change of SELECTORS.

THE HICKOK ELECTRICAL INSTRUMENT CO.
10514 DUPONT AVENUE e CLEVELAND, OHIO 44108

3200-308



OPERATING INSTRUCTIONS
for use with

ROLL CHART TUBE TESTERS

To test tubes with the CA-5 Universal Adapter and a Roll Chart Tube Tester,

proceed as follows:

a.  Connect the adapter to the Roll Chart Tube Tester by inserting the
test plug into the Noval socket of the Roll Chart Tube Tester.

b.  Set the switches “A”, “B” and “C” on the adapter to correspond with
the 3-digit number in the column headed “CAS5”, for the tube to be
tested as listed in the Operating Data book. Example: 123 is shown for
6ALI1; therefore, set switch “A” on position 1, switch “B” on position
2 and switch “C” on position 3.

c. Proceed to set up the switches and controls of the Roll Chart Tube
Tester as shown in the Operating Data book.

d.  Place the tube to be tested into the proper socket of the adapter.

e.  If the tube to be tested has a top cap, place the top cap connector of
the adapter to the cap of the tube and connect the top cap connector
of the Roll Chart Tube Tester on the cap connector of the test plug
of the adapter cable. The proper cap connector (if any) is shown in
the “NOTATIONS” column of the Operating Data book. Example: if
the notation column shows “CAP = G” (grid), connect the “G” or
“GRID” of the tester with the top cap connector of the Roll Chart
Tube Tester to the cap connector of the test plug of the adapter
cable. Note: Proper top cap connections to Models 6000 and 6005
Tube Testers are assured by setting the appropriate element selec-
tors to position “X". Example: if “CAP = P” appears in the “NO-
TATIONS” column, set the plate selector to “X” regardless of the
setting specified in the “SELECTORS” column.

f. Turn the Roll Chart Tube Tester on and proceed to test tube in the
usual manner as shown in the manual accompanying the particu’” .
tester being used.



| TUBE

TYPE FIL &
1AD2 1.5
1B8Y2 1=1
2AHZ2 2s5
2A52 2.5
ZB=HS 2al
ZBUZ2 2s5
2C nldy 2l
2054% 2«0
20V4 2.0
2EG4 2.0
ZN-H11 2.0
2N=H12 2.0

7 T2 3.0
JAMZ 3.0
IRL2Z 3,0
ABMZ 3.0
ABMNZ2 3.0
RS2 3,0
IeT2 3.0
ABW2 3.0
LHAT G .3

e

&HCT 4,3

dy o 3

SBC3 Bell
5.0

SHAT 5«0
50

SHC 7 540
5,0

s5U9 Gs3
6.3

R 5.0
5,0

BEXG Ged
Gel

! 6ABY Ba3
bae3

| BACY 63
i Ga3
Ga3

MUT
ENG | PUSH JCOND. | NOTATIONS
e e

BS=0000=0 JOO02 o 53 P5 —_— CAP=P DN ADAPTER NOTE 1
OK ABOVE DIODES OK

BS=0000-0 JO0OO02 0 53 PE | ===—— CAP=F ON ADAPTER

- Ok ABOVE DIODES OK. NOTE 1

BS=0000=0 J0OO02 ] 79 Ps ———— CAP=FP ON ADAPTER NOTE 1
0K ABOVE DIODES OK

B5=0000-0 J0O02 ] BO PS —_— CAP=P OM ADAPTER HNOTE 1
Ok ABOVE DIODES OK

BT-4208=0 | 103 25 Té P& 2300

CR=0000-0 J0O01 0 BO PS: | === CAP=P OMN ADAPTER

- Ok ABOVE DIDDES OK. MOTE 1

BT-4208=0 | 103 e5 T& P 2300

BT=-4208=0 | 103 24 T8 Pa 2500

CT=-6107=-0 | 203 g BB P& 4800

BT=4208-0 | 103 24 TT P4 2700 | MAKE =LINE TEST= AT 1450 ON
3000 SCALE.

BT-4208-0 | 103 24 T8 P4 2500

CT=6107=0 | 203 g BB P& 4800

BS=-0000-0 | OO2 0 B7 P5 -—— CAP=P ON KDAPTER NOTE 1
Ok ABOVE DIODES OK

CR=0000-0 | OO1 ] a0 PS5 o CaP=PF OM ADAPTER
OK ABOVE DIODES OK

B5=0000=0 § O02 O 90 Ph - CAP=F 0ON ADAPTER.

Ok ABOVE DIODES DK, NOTE 1
a5=0000-0 | 002 1] a0 PS5 CAP=F OW ADAPTER. OK ABOVE
DIODDES OK NOTE 1 .
BS5=-0000-0 | 002 (1] a8 PSS | ====— CAP=P, NOTE 1
CR=0000-0 | 001 1] BO PE | ==—=—= CAP=P ON ADAPTER
- UKk ABOVE DIDDES OK. WOTE 1
CR=0000-0 | 001 0 30 PS5 | ===== CAP=P ON ADAPTER
= (0K ABOVE DIODES DK

BS=0000-0 | 002 0 91 PS | ===== CAP=F 0ON ADAPTER. 0K ABOVE
DIODES OK.

ET=9204=0 | 203 23 79 P ZT00Q TRIODE MWD.1

By=&203=-0 | 045 19 15 Py GO0 ] TRIODE MOL2

BET=97204=0 | 203 13 B& Fi 000§ TRIODE WNO.1

BY=&203-0 | 045 20 21 P TOO] TRIODE MNO.2

BT=0900-0 | 000 0 43 P3 _—— FLATE ND.1 WNODOTE 1

BT=-0500-0 | OO0 ] &8 3 e PLATE MO.2 NOTE 1

BT-9204=0 | 703 23 T3 P ZT00)] TRIODE WOD.1

BYy=6203=0 | 045 19 15 P BO0] TRIOGDE WNOe2

BT=9204=0 | 203 13 BR& P i £000) TRIODE NOD.1

BY=4203=0 | 045 20 27 P TOO QL TRIONDE NO.2

FW=3782-4 | 000 14 B3 P i 3300 ]| PENTODE SECT. USE HICKOK
ADAPTER SA-11 CODE NO.
1050=17T7

FW=2901=0 | 200 30 a7 P& &000) TRIODE SECT.

FW=3T7&1-2 | 000 24 53 P& 1100 ] HEPTODE SFCT. UWSE HICKOK
ADAPTER 5A4=11 CODE MND.
1050=-177

FW=8109=0 | 100 25 Bl P& 3000 )] TRIODDE SECT.

FW=3TR2=4 | DOO 14 B P 3400 ] PENTODE SECT. USE HICKOK
ADAPTER Sa-11 CODE NO.
1as0=-177

Fe=2901=0 | 200 18 g1 P& 3000)] TRIODODE S5ECT.

FW=9T781-0 § 100 20 Bl P& 3000)] TETRODE NOLle USE HICKOK
ADAPTER SA=11 CODE WO«
1050-177

Fr=-3124=0 | 000 20 81 P& J000] TETRODE w2

BU=932B-7 | 234 11 ag P4 S000] PENTODE SECT.

Bi=030&=0 ) 002 0 Ba Pl = DIODE WNDs1 NOTE 1

BU=0203=0 | 004 0 a8 =3 | ———- DIODE NO.Z2 NOTE 1

I —
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I TUBE

TYPE FIL.
&ACL10 Bed | BT=9204=0
6.3 | B5=T506-0
6.3 | BV=4203=0
BADL1O B3 | BU=3THZ=5
&.3 | RU=B329-0
GAF9 b3 | FW=8197=0
Bed | FW=14%32-0
HGAFL1 .3 | BV=4239=0
6.3 | B5-4805-0
.3 | B5=-3407-0
BALGYD Be3d | BH=5239=4&
B.3 | B5=5T706=0
6AGL1 Bad | BS=58604=0
be3 | B5-8709=0
b¢3 EU~GEB!-U
.3 | BU=0302-0
BAHS Ba.3 JBT=S52B7=9
Bed | BY=2304=0
BAKD 6«3 | B5—8597=-0
b3 | BU=2307=-0
B3 | BU=3207=0
HAK LD Ba3 | BT=9204=0
b3 | BS5=T506=0
Bad | BY=5203=0
ALY Ba3d | BRH=5239-4
Bad | BS=5T0E=0
GAaLll B.3 | BU=8329=0
B3 | BV=36T2-4
SAR11 Ba3 | BU=2893=T
bed | BX-5236-4
BAS11 Hae3 | BY=5472359=0
b3 | BS=6R0E=D
Had | BS=23407=0
BAVI1L b3 | BT=9204=0
.3 | B5=T506=-0
b-3 HU*#EGE-H
BAN3 .3 | B5=0&40T7=0
BAY3 B3 | EV=0209=0
HAY L1 .3 | B5=8T09-0
Ba.3 | B5=5804=0
b3 | BU=0203=0
B3 | BU=0302=-0
6B10 Bed | BE=560T=-0
bed | BY=3L02=0
Bs3 | BT=0709=0
B3 | BS5=0809-0
L bad | EV=0209=-0
GRALL Bed | BE=4R/3R=T
fed | BH—4738-5
el BlU=9302=-0
&BDL1 a3 | BY=4239=0
bed | BS5=6RH0%=0
fBa.3 | B5=3407=0
&BE3 B3 | BT=0207T=0
6BF11 6.3 | BU-8329=-0
6.3 | BU=3TH2=5
6BH3 b.3 | EV=0209=0
BHEHLL bad | BU=-R293=-0
ba3 Fs=&T05=0
b3 | BYy=56302=0

234

100

000
345
002
ooz

356
002
002
oo2
234
004

023
005
002
234
004

203
ooz
045
356
ooz

234
005
234
aoT
345
0oz
o002

Z03
0oz
045
oo2
Qoo

oog
002
234
004
0oz
00%
203
00z

000
002
006
&34
145
002
002

203

234
004
000
234
002
005

18
10
21
13

22
19
17
17

10
a0
34
21
27

18
17
17

10

17
22

10
15
18

21
21
21

18
18

25
25

i
10
10
A0

11
1&

12

27
1&

10
19
19

20

B9

a3
90
75
17

T8
87
85
B5
83
B3

90
76
a4q

&3

By
8T
ar
93
90

90
35
84
a8
B3
ai
B3

RO
BO
AD
as
56

20
20
77
i
a8l
Bl
ag
BO

50
10
10
=N
88
BU
B

&0
91
27
S&
BT
91
9]

Pé

Pa

P&
P&
P
Pa

P&
P&
P&
P
Pl
Pl

7
P4
B
Pé
P4

P4
P
Pa
P
F &

P&
Pa
P&
P&
P s
Pa
Pa

P
P&
=12
P3
P3

P&
P&
Pl
F1
P&
P4
1
F1

P3
P&
P&
P
P&
P4
P&

F3
Pa
P&
3
P4

F
P

5500

4800

3100
5300
2100
2300

2500
4600
3100
3100

——

7000
2500
5500
£580
1980

4500
4500
4500

9000
& 500

5650

790
4200
£200
5000
3500
3400

2600

2600
2600

640
G &0

2500
2500

——— —

——

&50
a50
1450
5000
2750
1500

-

&100
&30
H000

6500
6500

TRIODE
TRI1ODE
TRIODE

NOTATIONS

NO. 1
NOD. 2
NO.3

FENTODE NO.1

PENTODE

FPENTODE NO.1.

ND.2

USE HICKDK

ADAPTER 5A-11 CODE NO.
1050-177

FPENTODE

PENTODE SECT,.

TRIODE
TRIODE

PENTODE

TRI10DDE
TRIODE

TRIODE

NO. 2

NO.1
NO. £

SECT.

SECT.
NOa1

ND. 2

DIODE NO.1 NOTE 1
DIODE WNO.2 NODTE 1

PENTODE
TRIODE
FENTODE
TRIODGE
TRIODE

TR1DDE
TR10ODE
TRIODE
FENTODE
TRIODE

PEMNTODE
PENTDDE
PENTUODE
PENTODE
FENTUDE
TRIDDE

TRIODE

TRIODE
TRIODE
TRIDOE
NOTE 1
NOTE 1

TRIODE
TRIODE

SECT .
SECT.
SECT.
Mde 1
hida

NO. 1
O« &
MO« 3
SECT.
SECT.

MO.1
MO 2
MO .1
MO . 2
SECT.
lla 1
M. 2

Wi 1
MY -
WO« 3

Mily l
MO« &

DIUDE Nel NOTE 1
DIODE WO.Z2 NOTE 1

TRIODE
TRIOUE

NO.1
Mlla 2

DIODE NOL1 WOTE 1
DIODE MOW2 WOTE 1

WMOTE 1
FPENTODE NOD.1
PENTODE MNU.2
TRIODE 5ECTa
FENTODE S5ECT.
TRIODE HNU.1
TRIOQDE wO.2
NUTE 1
FENTODE WNO.1
FENTODE N2
NOTE 1
FENTODE SECT.
TRIODE ND.1
TRIODE MOe2
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I TUBE MUT
TYPE TESTER BIAS | ENG | PUSH JCOND. | NOTATIONS
o emefl|
6BJ3 6.3 |BT=0207=0 | 203 0 &0 P3 — NOTE 1
6BK11 6.3 |BT=-9204=-0 (203 22 27 P& 700 | TRIODDE NOW1
6.3 | BS=T506=0 J002 20 T P 550 | TRIODE NO«2
be3 |BY=6203=0 | 045 20 7 P4 550 | TRIODE NO.3
BBNL1 bed | BU=T398=-2 | 234 10 88 P 4400 | PENTODE NO.1
6.3 |BX=3542=& | 007 10 BB P& 4400 | PENTODE NO,2
6BS53 6«3 | EY=-0209=-0 | 00O D &0 P3 ———— NOTE 1
6BV11 Bed |BU-T298=3 | 234 14 73 P& 2000 | PENTODE NO.1
bed | BX=£345=2 | 00T L& 73 P& 2000 | PENTODE NO.?2
&BW3 bed | BS=040T7-0 | 002 o 55 P3 ==== 1 NOTE 1
HBW11 bed | BU=3892=T7 | 234 10 BY P 5700 | PENTODE NO.1
be3 | BEX=-3542-6 | 00T 09 BA P4 5200 | PENTODE WNO.2
6BY11 be3 | BU=8329=0 | 234 45 87 P& 4600 | PENTODE ND. 1
6.3 |HU-3TE2=5% | 00% 15 52 P4 1200 | PENTODE NO. 2
6813 bed |BT=0207=0 | 203 0 &0 P3 —— NOTE 1
] bed | EV=T9RB&6-0 | 000 20 B5 P4 3700 | TETRODE NO.1
be3d | EV=-1328-0 | 600 20 B5 P 3700 | TETRODE NO.2
—&C10 6.3 |BT=9204=0 | 203 12 58 P& 1250 | TRIODE WNOD.1
be3d | BS-T506=0 | 002 12 58 P 1250 | TRIODE NOw2
bed | BY=4203-0 | 045 12 58 =T 1250 | TRIODE NO.3
6CAl1 6.3 | BU-B329=T | 234 20 90 P& 5600 | PENTODE SECTION
be3 | BS=H405-0 | 002 20 Bi Pi 3600 | TRIODE NOD.1
6.3 | BU=-3207-0 | 00& 20 B3 P& 3300 | TRIODE NO.2
&CD3 6.3 | BT=0207=0 | 203 0 77 P3 —-_—— NOTE 1
6CE3 6.3 | BS-0407-0 | 002 0 &7 P3 - NOTE 1
6063 be3 | BS=0407-0 | 002 0 68 P3 —— NOTE 1
&6CH3 Be3 | Ev=0209=0 | 000 o &8 P3 —-—— NOTE 1
&6CJ3 6.3 | EV=0209=-0 | OO0 0 62 P3 — NOTE 1
6CK3 be3d | Ev=0209=0 | 000 0 &7 P3 ———— NOTE 1
&6CL3 Ge3 | Ev=0209-0 | OO0 U 67 P3 —-—— NOTE ]
BLM3 bed | Ev=0279-0 | 000 O X P3 ———— SHORT OM 2, 3.NOTE 1
&L W hed | BT=-4208-0 | 103 25 16 P iy 2300
&D10 bed | BT=9204=0 | 203 19 80 P& 2ZB00 ] TRIODE NO.1
6.3 | BS=7506=-0 | DOD2 19 B0 P 2800 | TRIODE NOWL2
Bed | BYV-4203-0 | 045 19 80 P& 2800 ] TRIDDE NO.32
60L3 Ge6 | EV=0002=0 | OO0 SHORT TEST ONL)Y
Bed | EV=0002=0 | 000 0 &2 P3 -——— CAP=P ON ADAPTER. REVERSE
- METER NOTE 1
6003 B3 | Ev=040T7=-0 | 00O 0 b2 P3| ====- NOTE 1
6054 6.3 | BET-4208-0 J 103 24 T4 P4 2500
6DV4 Be3 | CT=810T=-0 | 203 30 BB P 4800
b 0w be3 | Ev=0209=-0 | 000 0 59 P3 ———— NOTE 1
bEAL 63 | BS-0605-0 | 002 0 55 Pl ———— CAP=G ON ADAPTER.NOTE 1
GEF4 6«3 | B5-0605-9 | 002 0 55 P1 ——— CAP=G ON ADAPTER.NOTE 1
HEH& 6«3 | BS-0605-0 | 002 O 55 Pl CAP=G ON ADAPTER. NOTE 1.
bEJ4 6«3 | B5=0605-9 | 002 0 55 =5 CAP=G OM ADAH#TER. NOTE 1.
6FJT 6.3 | BU=-2309=-0 | 234 24 T3 P 2500 | TRIODE NO.1
6.3 | B5=3507=0 J 002 18 g2 P4 7700 | TRIODE NOD.?Z
&FMT &e3 | BU-2309-0 | 234 19 53 P& 1100 ] TRIDODE NO.1
b«3 | BS=-B507-0 | 002 63 BB P& 5000 ]| TRIODE NO.2
&FYT Bed | BU=2309-0 | 234 22 24 P& 6575 | TRIODE NO.1
be3d | BS=3507=0 [ 002 53 92 P& 6500 ] TRIODE NO.2
6G11 4.3 | BU-8329-0 | 234 33 B9 P& 4400 | PENTODE NOWLL
be3d | BY-"14T72-4 | DOS 15 19 P& 650 | PENTODE ND.2
BGAT 6%3 | B5=-4735-0 | 002 55 BY P 4600 PENTODE SECT.
6.3 | BT-0208-0 | 023 U 54 P3 —_— DIODE SECT. NOTE 1
6GES Be3 | By=4T723=0 | 345 &7 90 P& 5750
6GFS 63 | BVN-4T723-0 | 345 | 55 B9 | Pa &B00
—-6GF 7 b2 | EVv=9R01=-0 | 00O 20 3g P& BO0| TRIODE NO.1
bed | Ev=2603=0 | 000 59 90 P& 5600 | TRIDDE NO.2Z
| i —
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F —

TUBE MUT
TYPE COND. | NOTATIONS
—
66J5 EV-60T3-0 |000 -- 7900 | CAP=P ON ADAPTER
HOLD DOWN Pl AND PRESS P&
6GTS 6.3 |EV-69T73-0 |000 | 32 g2 | == 7900 |HOLD DOWN P1 AND PRESS P4
6GVS 6.3 |BU-9032-0 234 | 44 92 | P4 6500 | CAP=P ON ADAPTER
BGYS 6.3 |eT=-5072=-0 J203 | 32 92 | -- 11400] CAP=P ON ADAPTER
- HOLD DOWN Pl AND PRESS P&
&HBS I 6.3 |BV-46T723=0 [345 | &2 a9 | Ps 5600 |
&6HDS 6.3 |BU-3T92-0 |234 | 58 Be | Pa 5400
&HES 6.3 |BU-9823-0 |234 | 28 8g | P4 5500
&HE T 6.3 |BT-9528-0 |023 | 59 91 | P4 6500 | PENTODE SECT.
6.3 |BT=-0204-0 |0OO3 0 61 P3 |=-=--- |DIODE SECT. NOTE 1
bHF5 6.3 |BU=-9032-0 234 | 64 92 | P4 8300 | CAP=P ON ADAPTER
&HJS 6.3 |Bv=4792-3 [345 | 55 9z | P& 8000
6HSS 6.3 |Bv-2704-3 005 ) g0 | P4 6000 I
BHYS 6.3 |Av=T7204-3 J0O05 d Bz | Pl ———= | NOTE 1
BHLS 6.3 |BV-2T04-3 JOOS5 3 90 | P& 6000
6J9 6.3 |Ev-7RO1=-0 |l100 | 20 gl | p& 3000 | TRIODE NO.1
5.3 |Ev-9601-0 J100 | 20 81 P 1000 | TRIODE NO.2 ,Jmm
6.3 |Ev-2103-0 Jooo | 20 81 P& 3000 | TRIODDE ND.3
6J10 6.3 |BS=T488-5 JOO2 & 27 - 700 | FENT.ND.1 HOLD DOWN P1
AND PRESS P4
6.3 |Bv=-4923-0 045 | 19 Bg | P& 5700 | PENT. NO.2
6J11 6.3 |BU-39T78=-2 |234 11 87 | Pa 4200 IPENTDDE NOW1
6.3 |BX=5326-4 |OOT 11 87 | Pa 4200 | PENTODE NO.2
6JAS 6.3 |BS=-9634-0 JOD2 55 8g | P& 5000
6JBS 6.3 |BU-9823-0 234 | 51 73 | P& 2000
&JB6 be3 |EV=2013-=8 |JOOO 32 92 - 1900 JCAP=P ON ADARTER
HOLD DOWN Pl AND PRESS P&
&JD5 6.3 |av=2704=-3 Jo05 0 g0 | P4 6000
6JEL 6.3 |EV=-2073=8 |000 | &6 91 -- 7000 | CAP=P ON ADAPTER
| HOLD DOWN Pl AND FHRESS P&
6JF6 6.3 |Ev-2073-8 |0OO | 33 94 | -- 9100 | CAP=P ON ADAPTER
HOLD DOWN Pl AND PRESS k&
6JGE 6.3 |EV-2973=6 Jo00 | 33 g4 | P& 100 |HOLD DOWN P1 AND PRESS P&
6JHS | 6.3 |Bv-2704-3 JoO5 0 g0 | Pa 4000
6JKS bed |BY=-2TD&=3 005 W] 90 P &000 |
bJME 6.3 |BW=-5032-4 Ju06 | 52 91 P4 5000 |CAP=P ON ADAPTER
BJNG 6.3 |BW=-5T732=-4 f05&6 | 52 91 P4 6000
6JRE 6.3 |EV-2913-& |000 | &8 50 | P4 4200
6J56A 6.3 |BW=-5032=-4 |O0& | 70 90 | P4 5500 IEnP=P (M ADAPTER
6JTH 6.3 |Ev=2973-& |OCO | 59 A9 P& 5500
b JUS 6.3 |Ev-2013-8 |000 | &8 g0 | P4 4200 |CAP=P ON ADAPTER
6JVE be.3 |BW-5T737-4 |456 | &0 91 P i 6500
6JI6 6.3 |BW=5032-4 o0& | &0 g1 | Pa 6500 |CAP=P ON ADAPTER
6J18 6.3 |BS-T4n9-0 |o02 32 90 | P4 5300 | PENTODE SECT. |
I 6.3 [BV-3204-0 [345 | 31 66 | P4 1550 | TRIODE SECT.
K11 6.3 lBT-9204=-8 203 | 2& 75 | P4 2200 | TRIODE NO.1
6.3 |Rs-7506-8 J002 12 58 | P4 1250 | TRIODE NO.2
6.3 |BV=4203-8 |045 12 58 | P& 1250 | TRIODE NO.3
6KD6 6.3 |BW-5032-4 |o0e | &5 94 | Pé 10000 | CAP=P ON ADAPTER
6KMb bed |EV-20T73-8 |000 | &5 91 P& 5250 |CAP=P ON ADAPTER
&K N& 6.3 |BW-5032-4 |006 | 55 g2 | P4 6500 | CAP=P ON ADAPTER
6KVE 6.3 |EV=2913=-6 000 | 70 B5 | P4 4800
6KYB 6.3 |EV=26T73-0 Joo0 | &1 90 | P4 5600 | PENTODE SECT.
6.3 |Ev=9801-0 o000 | 23 15 P& 600 | TRIUDE SECT.
LA 6.3 |BW-5032-4 J00&6 | 38 93 9150 | CAP=P ON ADAPTER. HOLD DOWN
Pl AND FRESS P&,
&LF& 6.3 |BW=5032=-4 JO0Ds | 72 90 | P& 6250 | CAP=P ON ADAPTER. L
LGS 6.3 |BT=-5024=-0 J023 | 59 91 P4 7750 |CcAP=P ON ADAPTER.
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HMOTATIONS
Ev=20T3-8 CAP=P ON ADAPTER. HOLD DOWN
Pl AND PRESS P&
&LR& 6.3 |BW-5032-4 |00& 90 56 P CAP=P. ON ADAPTER
&LRB 6.3 JEV=-26T3~-0 | 000 &0 91 P& 6000 | PENTODE SECT.
6.3 JEV=9R01=0 | 000 26 “f P& 1000 | TRIODE SECT.
&LUS 6«3 JBS-6489=0 | 002 40 91 P& &000 | PENTODE SECT.
bs3 | BY=3204=0 | 345 26 & A P 1000 | TRIOQODE SECT.

ELYE bed | BW=5032-4 | 006 T2 90 P& L250 | CAP=F OM ADAPTER

BLXG 6.3 | BW=5032-4 | 006 &5 94 P& 10000 J CAP=P ON ADAPTER

&ML 1 Bed | BW=2534=0 | 456 5 B6& P & 1950 | PENTODE SECT.

6«3 |BS=-BTO9-0 | OO2 22 B2 P4 2900 | TRIODE ND.1
b3 | B5=-5604=-0 JO02 22 g2 P& 2900 | TRIODE ND.2

&MB & Be3d fBH=-5032=-4% | 0D& &5 Q4 Ps 10000 | CAP=F ON ADAPTER

HBMC & be3 | EV=-2073-8 | 000 65 b P4 10000 | CAP=P ON ADAPTER

&MDS8 6.3 | EV=-630T7=0 | 000 30 87 P& 4200 | TRIODE NOL1]

6.3 | EV=-8207-0 | 000 il BT P iy 4200 | TRIODE NO=Z2
bed | EV=9107=0 | 000 30 B7 [2F 200 | TRIODE MNO.3
ME& be3d | EV=20T3-8 | 000 &6 91 - TO00 | CAP=F ON ADAPTER
be3 - HOLD DOWN Pl AND PRESS P4
&MFB b3 | B5=T&4B9=0 | 002 E ¥ 89 P& 5100 | PENTODE SECT.
Bad | BY=3204=0 | 345 23 Ta P4 2300 | TRIODE SECT.
M B B3 | BY=4203=-0 | 045 29 B2 P 3500 | TRIODE NO<ls
Bed | BY=2403-0 | 205 249 B2 P& 3500 | TRIODE MDe2«
b+3 | B5-B5603=0 | 002 29 B2 P A500 | TRIODE NO«3.
HEMNE b+3 | B5-8603=-0 | 002 25 77 P& 2350 | TRIODE WOD. 1
6«3 | BV=-2403-0 | 205 25 TT P 2350 TRIODE WOe 2
Gad | BY=4203=0 | 045 25 T7 P& 2350 | TRIODODE NO. 3
&MY 8 6.3 | BS=6489=0 | 002 &0 91 P &000 | PENTODE SECT.
B3 | BV=3204=0 | 345 26 48 P& 1000 | TRIODE SECT.

&N=HL O 6.3 | BT=4208-0 | 103 15 B P 2700

BMN=L7 bed |BT=4208=-0 | 103 (=11 &9 P 1210

6011 B3 | BT=-9204-8 | 203 rL T8 P 200 TRIODE WNOs1

B6.3 | BS=T7506=8 | 002 12 58 P 1250 ] TRIODE NOD.2
Hed | BY=4203=-8 | 045 12 58 P4 1250 | TRIODE WNOD.3
&TS B3 | BU=-B329=-0 | 234 20 Bg P& S500 | PENTODE SECT.
Bed | BT=4205=0 | 003 21 lé P4 BOO | TRIODE SECT.
&6T10 Bs3d | BU=B329-0 | 234 19 90 P 8750 | PENTODE NO.1
Bed | BU=3TEZ=5 | 004 15 28 P& TO00 | PENTODE NO«2

&UT bed | FW=3TBZ2=4 | 000 14 B3 P& 3300 | PENTODE SECT. USE HICKOK
ADAPTER SA=11 CODE NO.
1050=177

be3 | FW=2901=-0 | 200 30 By P& 4000 | TRIODE SECT.
&UL0 6.3 | BT=9204=0 | 203 2B T4 P4 2000 | TRIODE NO.1

6.3 | BS=-T506-0 J 002 21 B P ETS | TRIDDE NOLZ2

Ged | BY=4203=0 | 045 28 Tk P4 2000 | TRIODE NO.3

6V Bae3d | FW=3T41-2 | QOO 24 53 P 1100 | HEPTODE SECT. USE HICKOK
ADAPTER SA-11 CODE WO
1050=-177

6«3 | FW=8109-0 | 100 25 81 P& 3000 | TRIODE SECT.

HLD Ged | FW=3TAZ2=4 | QOO 14 B & P& 3600 | PENTODE SECT. USE HICKOK
ADAPTER S5A-11 CODE WO
1050=-17T7

Bed | FW=2901=0 | 200 18 Bl P& 3000 | TRIODE SECT.

BY9 bed | FW=B197=0 | 100 19 B9 P 4800 | PENTODE NO.1l. USE HICKODK
ADAPTER SA=11 CODE NO.
1050-177

Bs3d | FW=1432=0 | 000 18 83 P 2100 ) PENTODE NO.2
&Y10 Be3d | BU=B329=0 | 234 17 6 Pl 4000 | PENTODE WNO.1
B3 | BU=3THEZ=5 | 00& 14 67 P 1400 | PENTODE NOD.2
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ﬁ
ENG | PUSH | COND. | NOTATIONS
S ————
BS-T468-5 27 | -- PENTODE NDsl. HOLD DOWN
Pl AND PRESS P&
6.3 | BY=4923-0 | 045 19 a9 P& PENTODE NO.2Z2
BACY Teb IBU—?!EE-T 234 11 BB P i PENTODE SECT.
T«5 | B5-0304=0 | 002 0 B8 Pl DIODE NO.1 NOTE 1
T+5 | BU-0203=0 | 004 0 Ba Pl DIODE NO.2 NOTE 1
BAC10 10.0 | BT=9204=0 | 203 10 51 P& TRIODE NOD.l MAKE =LINE TEST=
AT 1220 ON 3000 SCALE
10.0 | B5=750&6-0 IDOE 10 51 P 1150 | TRIODE ND.2
10.0 | BV-4203-0 | 045 10 51 P& 1150 | TRIDDE NOD.3
BAL9 T«5 | BW=5239=4 | 356 5 93 P& 9000 | PENTODE SECT
Te5 | B5-570&=0 | 002 10 90 P& 6300 | TR1IODE SECT.
BARL11 T«5 | BU=2B93-T | 234 T a8 P4 4200 | PENTDODE ND.1
Te5 | BX=5236-4 | 007 T Be Pé &200 | PENTODE MOs2
BAV11 T«5 | BT-9204-0 | 203 21 80 P& 2600 | TRIODE NO. 1
T«5 | B5=-T506=0 | 002 21 Bo Pé 2600 ] TRIODE NOD. 2
7«5 | BVv=4203=0 | 045 21 80 P 2600 | TRIODE NO. 3 |
BBL1O T«5 | B5-5607-0 Iﬂﬂi a0 78 P& 2300 )] TRIODE NOs1 JMAKE =LIMNE e
T«5 | BY=3402-0 | 005 30 T8 P& 2300 | TRIDDE ND.2 JTEST= AT 1750
T«5 | BT=0209-0 | 203 O a2 Pl o DIODE NOD.1 YON 3000
7.5 | B5=0809=0 | 002 0 B2 Fl e DIODE WNOD.2 J)SCALE. NOTE 1
BBAll T«5 | BS—4538-T7 | 002 10 10 P& 650 | PENTODE NOa1
T«5 | BW=4238=5 | 00& 10 10 P& &50 | PENTODE ND.Z
T«5 | BU-9302-0 | 234 a0 57 P& 1450 ] TRIODE SECT.
BEBM11 7.5 | BU=3T792-8 | 234 10 BA Fi w200 | PENTODE NO.1
Te5 | BX=6235=4 | 007 12 BT P i 4000 | PENTODE NO.2
BBN11 | 7.5 | BU=-T398=2 | 234 10 B8R P& 4600 | PENTODE ND.1 |
T«5 | BX=3542-6 | 007 10 BA P& 45400 | PENTODE ND.2
8BOL1 T«5 | BU=2R93=T | 234 5 88 P 4500 | PENTODE ND.1
T«5 | BX=5234=4 | 007 5 91 P i &000 | PENTODE NO.2
8BU11 T.5 | BU=B293-0 | 234 10 87 P& 4000 | PENTODE 3SECT.
T«5 | B5-6T705-0 | 002 18 91 P& 6000 | TRIODE NO.1
7«5 | BY=4302-0 | 005 18 91 P& 6000 | TRIODE NO.2
BCEBL11 T«5 | BU-2893-T7 | 234 10 Bg P4 5000 § PENTODE NO« 1
7«5 | Bx=5236=4 | 007 10 a9 P& 5000 | PENTODE NOD. 2
BK11l T«5 | BT-9204=-8 | 203 2% 75 P& 2200 | TRIODE NO. 1
T«5 | B5-7T506-8 | 002 12 58 P& 1250 | TRIODE NOD. 2
Te5 | BV=64203-8 | 045 12 58 P& 1250 | TRIODE NOD. 3
BU9 TaS | FW=3T82=4 | 000 14 B3 P4 3300 | PENTODE SECT. USE HICKOK
ADAPTER S5A-11 CODE NO.
1050=177
| 7«5 | FW=2901-0 | 200 30 BT P& 4000 | TRIODE SECT.
axg T«5 | FW=-3782=4% | 000 14 84 P4 3500 | PENTODE SECT. USE HICKOK
ADAPTER 5A-11 CODE NO.
1050=-177
Te5 | FW=2901-0 | 200 18 Bl P& 3000 | TRIODE SECT.
SAHS 10.0 | BT-5287-9 | 023 10 90 P& TOOOD | PENTODE 5SECT.
10.0 | BV=2304-0 | 005 a0 16 P& 2500 | TRIODE SECT.
| SAKL10 10.0 | BT=9204=0 | 203 17 BT P& 4500 | TRIODE NO. 1
10.0 | BS-7506-0 | 002 17 B7 P& 4500 ) TRIODDE NO. 2
100 | BY=4203-0 | 045 17 BT P& 4500 ) TRIODE MNO« 3
9BJ11 10.0 | BU-3T792=-8 | 234 10 &9 P& 1700 | PENTODE MNOD.1
10.0 | BX=6235=4 | 007 15 85 P& 3500 | PENTDDE NO.Z2
SMNE 10.0 | B5-8403=0 ) 002 25 TT P& 2350 ) TRIODE ND« 1
10.0 | BY=2403-0 | 205 25 1T F i 2350 | TRIODE NO. 2
10,0 | BV=4203=-0 | 045 25 TT P 2350 | TRIODDE ND. 3
Vs 10.0 | FW=-3T74&1=2 | 000 24 53 P& 1100 | HEPTODE SECT. USE HICKOK
ADAPTER 5A-=11 CODE NOD.
1050=177
10.0 | FW=8109=0 | 100 25 a8l P& 3000] TRIODE SECT. T
I = s—— — J
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TUBE
TYPE

10AL11

10GF7T

10J10

LOJAS
10T10

10210

11AF9

11aR11

I 118011

11BT11

11CAll

11CF11

11CH11

11FYT

11Y9

12AC10

1ZAELD
12AL11

12AX3

12AY3
12BE3
128F11

12853

12873
12BV11

12CK3
12CL3

120W4A

10.0

10.0
10.0
10.0

10.0
12.6
12.6

12.86
12.6

12.6

12.6
10.0
10.0
10.0

10.0
10.0
10.0
10.0
10.0
10.0

10.0
10.0
10.0
10.0
10.0

10.0

10.0
l2.6
12.6
12.6

12.6
12.56
12.86
12.6
12.6

12.6
12.6
12.6
12.6
12.8

12.6
12:6
12.6

12.6
12.6

TESTER

BU-8329-0
BY=36T2=%
EV-9801-0
EvV=-2603-0
B5=T&68=5

BY=4923-0

B5-9634-0
BU-8329-0
BU-3762-5
BS=T468-5

BV=4923=0

IFH'EIQT-Q

FW=1435=0
BU=2893=7
BX=5236-4

BU-2893-T

BX=5236-4
BV-4238B=6
B5-5T06-0
B5-3904-0

BU-B832%9=T
B5—-6405-0
BU-3207-0
B85-5346-0
6T-9208-0
BU=3207-0

BV-4238=6
BE=-5T06~0
B5-3904-0
BU=-2309-0
B5-3507-0

FW=8197-0

FW=1432-0
BT=-9204-0
B5-T506-0
BY=-4203-0

BU=-8329-0
BU=-3T7862-5
BU=-8329=0
BYy-346T2-4&
BS5=0&407=-0

EV=0209-0

BT=-0207-0
BU-8329=0
BU-3Te2-5
Ev-0209-0

B5-040T7-0
BU=T298-3
BX=6345=2
EV=-0209-0
Ev=-0209-0

Ev=-0209-0

005
000
000

234
00%
oo02

045

100

000
234
ooT

234

ooT
345
ooz
002

234
o002
004
002
203
034

345
002
o0z
234
002

100

000
203
002
045

234
004
234
005
002

o000
203
234
004

000 |}

22
20
59

I9
15

19

19

-
=] =l 00

10

10
10
17
24

20
20
20

20
17
24
22
53

19

B5

87
92
82
B2

90
B4
B3
93
av
90

90
a2
a2
24
92

a9

P&
P&

P4

P4

Pé
P&
P4

P&

P4
P&

P&
P&

P&
P&
P4
P4
P4
P4

P&
P&
P4
P&
Pé

P&

P&
P4
P&
P&

P&
P4
P
P&
P3

P3
P3
P4
P&
P3

P3
P&
Ph

P3
P3

PUSH § COND.

5600
T00

5700

5000
5750
ToO0
T00

5700
4800

3100
4200
4200

3500

&000
8500
3300
3200

5600
2600
3300
10000
4500
6300

5600
3300
3200

675
6500

4800

HNOTATIONS

PENTODE NO.1

PENTODE NO.2

TRIODE NO.1

TRIODE ND.2

PENT.NO.1l. HOLD DOWN Pl
AND PRESS P4

PENTODE NO.2

PENTODE NO. 1
PENTODE NO. 2
PENTODE NOD. 1. HOLD DOWN Pl
AND PRESS P4.
PENTODE NO. 2

PENTODE NO. 1. USE HICKOK

ADAPTER 5A-11l+ CODE NO.

1050-177

PENTODE NO. 2

PENT. NO.1 JMAKE =LINE

PENT. ND.2 )TEST= AT 1350
*0N 3000 SCALE.

PENT. ND.l. MAKE =LINE

TEST= AT 1300 ON 3000 SCALE.
PENTODE NO.2

PENTODE SECT.

TRIODE NO.1

TRIODE NOD.Z2

PEMTODE SECT.
TRIODE NO.1
TRIODE NOD.2
PENTODE SELCT.
TRIODE NO. 1
TRIODE NO. 2

PENTODE SECT.
TRIODE NO.l
TRIODE NO.2
TRIODE ND.1
TRIODE ND«2

PENTODE ND.l. USE HICKOK
ADAPTER S5A-=11 CODE NOD.
1050-177
PENTODE NO.2Z

TRIODE NOD 1

TRIODE MO 2

TRIODE WO 3

PENTODE
PENTODE
PENTODE
PENTODE
NOTE 1

NO.1
ND.2
NO.1
NO.2

NOTE 1
NOTE 1
PENTODE
PENTODE
NOTE 1

NOTE 1
FPENTODE
PENTODE
NODTE 1
NOTE 1

NO.1
NO.2

NO.1
NO. 2

NOTE 1.
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TUBE MUT
TYPE TESTER BIAS | ENG | PUSH | COND. | NOTATIODNS
12G11 l12.6 | BU=B8329=0 | 234 313 89 P& 4400 | PENTODE NO.1
12.6 | BY=36T72-4 | DO5 15 19 P 4 650 ] PENTODE NOD.2
L2GES 12.6 | BY=4T723=0 | 345 &7 g0 P 5750
12GJ45 12.6 | EV=60T3=0 ] 000 32 92 - 7900 | CAP=P ON ADAPTER
HOLD DOWN Pl AMD PRESS P4
12GT5 126 | EV=69T3-0 | 000 iz 92 - 7900 | HOLD DOWN Pl AND PRESS P&
L2GY5 12«6 | BU=9032=-0 | 234 iy 92 P& &500 | CAP=F ON ADAPTER
12HET 12.6 | BT=9528=0 J 023 59 91 Pl 6500 | PENTODE SECT.
126 | BT=0204=-0 J D03 8] &1 P3 ——— DIODE SECT. NOTE 1
12JB& 12.6 | EV=2013-8 | 000 LY. 92 - 7900 ] CAP=P DN ADAPTER
HOLD DOWN Pl AND PRESS P4
L2JF5S 126 | BYV=3024=0 | 005 25 90 == &000 | CAP=P ON ADAPTER
HOLD DOWM Pl AND PRESS P&
12JM6 2«6 | BW=5T732-4& | 056 52 91 P &000
12JN6& 12«6 | BW=5T732=-4 | 056 52 91 P& &000
12J564 12.6 | BW=-5032-4 | 006 | TO g0 | P4 5500 | CAP=P ON ADAPTER
12JT6 12.6 | EV=2973-& | 000 549 Bg Pi 5500
12608 12«86 | EV=630T7-=0 | QOO0 11 a7y (=" 2000 TRIODE NO.1
12.6 | EV=8207-0 | 00O 30 B7 P4 4200] TRIODE NO.2
12«6 | EV=9107=0 | OGO 30 ai P& 42001 TRIODE NOs3
1 ZMNE 12.6 | BS=-8&603=0 | 002 25 77 Pa 2350 TRIODDE WD 1
12.6 | Bv=2403=0 | 205 25 T P 2350] TRIODE ND. 2
12.6 | BV=4203=0 | 045 25 77 P& 2350)] TRIODE ND. 3
12710 12«86 | BU=B329=0 | 234 19 S0 P& &T50] PENTODE MO.1
12«6 | BU=3762=-5 | DO0& 15 28 P4 TOO] PENTODE NO.2
130 W 12.6 | BT=4208=0 ] 103 25 76 P& 2300
L3AFMT 12.6 | BU=2309=0 | 234 19 53 Ph 1100 TRIUDE WNOD.1
12«6 | B5=-8507=0 | 002 &3 BE P& 50000 TRIODE WNO.Z
L3GFT 12.6 | EV=9801=0 | 000 20 39 P4 BOO] TRIDDE NOD«1
l12.6 | EW=2603=0 | 000 59 S0 P& S600] TRIODE NDe2
13J10 12.6 | B5=7458=5 | 002 & 27 = TOO] PENT. NO.1l. HOLD DOWN P1
AND PRESS P4
126 | BY=4923=0 | 045 19 B9 P4 STO0] PENT. NOL2
13474 126 | B5=-T48%=0 | Q02 32 a0 P 53000 PENTODE SECT.
12.6 | BU=3208=-0 | 304 31 a6 P 1550 TRIODE SECT.
13v1o0 12«6 | BU=R3259=0 | 234 24 a9 P& S000) FPENTODE NO.1
1256 | BU=-3T762=5 | 004 25 0 P4 00| PENTODE NU.2 .
13210 12.6 | BS5-T4&E-5 | 002 & 27 - TOO] PEMT.MO.l. HOLD DOWM Pl
AND PRESS P4
1Z2.6 | By=4923=0 | D45 i 8BS P i S5TO00) PENTODE WDeZ2
14BL11 126 | BYy=54238=0 | 345 13 Q2 P& 75000 PENTODE SECT.
12.6 | B5=-5T70A=-0 ) 002 16 Bg P 3300 TRIUODE MOe1
12«6 | B5=3904=0 ) 002 22 as P& A500) TRIODE NO.2
14BR1] 126 | BHW=2534=0 | 05& 10 Y91 P i 6500)] PENTODE SECT.
12.6 | RS=88605=0 | 002 19 A4 P4 3000] TRIODE WOD.1
12.6 | BT=2907=0 | 203 17 B P& 3500] TRIODE MNO.2
1SAB9 12.6 | FW=9781=0 | 100 20 Bl P& A000] TETROUDE NO. 1 UWSE HICKOK
ADAPTER SA-11+ CODE NU. 1050=
177« MAKE =LINE TEST= AT
1650 OW 3000 SCALE.
126 | FW=3124=0 | 00D 20 a1 P& 3000] TETRUODE NO. 2
154F11 126 | BV=4239=0 ] 345 13 97 F i 7250) PENTODE SECT. MAKE =LINE
TEST= AT 1750 ON 3000 SCALE.
12.6 | B5=6R05=0 | 002 21 BZ Pi 2B50] TRIODE NO«1
l12.6 | BS=3&407=0 | 002 19 aé P& 4000) TRIODE NDW2?
15BD11 12.6 ]| BYy=4239=0 | 345 19 B8 P& 5000] PENT SECT. MAKE =LINE
TEST= AT 1650 ON 3000 SCALF.
l12.6]| BS-6B05=-0 ] 002 21 a0 ] ZT50] TRIODE NOs1
12+6 | BS=3507=0 ) 002 21 & P4y 35001 TRIODE WD.Z2
' _A
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MuT

PUSH § COND.

NOTATIONS

BU=2309=0 1100 TRIODE NDs:ls MAKE =LIME
TEST= AT 1&6%0 ON 2000 SCALE.
RS=B50T7=-0 S000 | TRIODE NO.2
15FY7 12.6 ] BU=2309-0 | 234 22 25 P& TOO) TRIODE MDsls MAKE =L INE
TEST= AT 1750 ON 3000 SCALE.
12.6 | B5=3507-0 | 002 5y 93 P TO00 ] TRIODE WO« 2
15KYA 126 | EV=24T3=0 | 000 iy 2 a1 P& 6500 | PENT S5ECT. JMAKE =LINE
12.6 | EV=-9801-0 | 000 20 53 P& 1L100] TRIODE SECT. JTEST= AT 1750
*0N 3000 SCALF.
15MF8 12.6 | B5-7T489=0 | 002 32 B9 P& 5100 ] PENTODE SECT. MAKE =LINE
TEST= AT 1750 OM 3000 SCALFE.
15HMX8 12:6 | EV=2&6T3=0 | OO0 LY 91 P& 6500 ] PENTODE SECT. MAKE =LINE
- TEST= AT 1750 ON 3000 SCALE
12.6 | E¥Y=9801-0 | 000 20 53 P& 1100)] TRIODE SECT.
lLAKS 20,0 | B5=-85%97=0 | 002 32 Bg P& E300 ] PENTODE SECT. MAKE =LINE
TEST= AT 1400 ON 3000 SCALE.
20.0 | BU=230T7=-0 | 234 22 78 P4 2600 ] TRIODE NOs1ls
20,0 | BU=-3207=0 | 004% 19 70 P g 2000] TRIODE ND«2e«
&BOL11L 200 | BU=2893=T | 234 10 BS P& 3500 ] PENT. NO. 1 MAKE =LIME TEST=
AT 1300 ON 3000 SCALE,
20.0 | BX=52346=4 | OO7 10 BT P i 4000 | PENT. N0« 2
15BX11 20.0 | BW=2534=0 | 456 ) a8 P 5500 | PENTODE SECT. MAKE =L INE
TEST= AT 1350 ON 3000 SCALE.
200 | B5=8T7T09=0 | 002 B a9 P& HE200) TRIODE NO. 1
20.0 | B5=5604-0 | 002 10 a0 P4 &B00 ) TRIODE NO. 2
l16C=-B 28 Z20.0 | BW=5032=5& | 0O0& 54 93 P i BEBOO | CaAP=P ON ADAPTER. MAKE
- =LINE TEST= AT 1450 ON 3000
- SCALE
16GYS 20.0 | BU=-9032-0 | 234 B4 93 P& BROO ) CAP=PF OWN ADAPTER. MAKE
=L INE TEST= AT 1450 ON 3000
SCALE.
16HBS 20.0 | BY=4T723=0 | 345 b2 B9 P b 5600 | MAKE =LINE TEST= AT 1400 ON
- 3000 SCALE.
l16JV6 20.0 | BW=5T32~4& | 456 &0 91 P& &500 ]| MAKE =LINE TEST= AT 1400 ON
= 3000. SCALE.
16K AR 20.0 | BW=5032=-4& | 20& 55 91 P ToOO] CaP=P OW ADAPTER. MAKE
=L INF TEST= AT 1400 ON 3000
SCALE.
1&LLIBA 20.0 | B5=86489=0 | 002 &0 91 P& &000 | PENTODE SECT. MAKE =LIME
TEST= 1350 OMN 3000 SCALE.
20.0 | BYy=3204=0 | 345 26 &8 P& 1000] TRIODE SECT.
14MYH 20.0 | BS=-&4B%=0 | OO2 &0 91 P& 6000 | PENTODE SECT. MAKE=LINE
- TEST= AT 1350 ON 3000 SCALE.
20,0 | BU=32208-0 | 304 26 & H P& 1000] TRIODE SECT.
l&6Y9 20.0 | FW=8197=0 | 100 19 a9 P i 4800 ] PENTODE NOL.l. MAKE =LIME
TEST= AT 1400 ON 3000 SCALE.
USE HICKDOK ADAPTER SA-=11
CODE NO.1050-177
20.0 | FW=1432-0 | 000 18 B3 P4 3100 ]| PENTODE NOL2
1TABS 200 | FW=9T81-0 100 20 81 P& 3000 TETRODE WNO.1le« MAKE =L INE
TEST= AT 1400 ON 3000 SCALE.
USE HICKOK ADAPTER
SA=-11 CODE NOL1OS0=-177
200 | FW=3124=0 | 00O 20 g1 P 2000 ]| TETRODE NOeZ2
17TABLO 20.0 | BS=-T468-5 | 002 [ 27 - TO0O] LIMITER GRID. SET=MORMAL
LIFE TEST= SWITCH TO =LIFE
TEST= POSITIUON. HOLD DOWN P]
&MD PRESS P&,
20.0 | B5=5468=T7 | 002 13 1] - S00 ]| QUADRATURE GRID. HOLD DOWN
T Pl AND PRESS P&
20.0 | BY=4923=0 | 045 13 B9 P4 S000 | PENTODDE MNO.Z2
|
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TUBE
TYPE

1TAX3

17TAY3

17BE3

1TBF11

1TBH3Z

17853
17BW3

178123

17C9

L7CK3

L7CL3

17TDOW&A

1TGES

17GJ5

17GTS

LTGVS

17JB6

17JF6&

1TJGEA

1TJM6

L7TJNE

1TJRE

17JTé

20.0
200

20.0

20.0
20.0

20.0
20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

20.0

BIAS

ENG

B5-0407-0

EvV-0209-0
BT=-0207=0

BU-8329-0
BU=-3T62=5
EV-0209-0
Ev=0209-0
B5—-0407=0
BT-0207-0
EV=T986=0
Ev=1326-0

Ev=0209-0

Ev=0209-0
Ev=0209-0

BYy=4T723-0

EV=60T73-0

EV=569T3=0

BU=90322-0

Ev=2013-8

EV-20T3-8

EV=29T3=6

BW=-5032-4&

BW=5732=-4%

Ev=2913-6

EV=29T3=&

000
203
234
004

000

ooo
o002
203
000
600

000

000

000

345

000

ooo0

234

000

000

000

406

056

000

000

14

32

32

25

3d

33

33

52

52

68

59

30

20
55
90
40

50

&0

55
&0
80
BO

b

&4

&4

93

92

92

93

22

94

94

91

91

20

a9

P3

P3

P&

P4
P3

P3
P3
P3
P i
P

P3

P3

P3

P4

Pd

P4

P&

6100
630

3000

3000

8250

T900

7900

B600

7900

9100

9100

&000

&000

&200

5500

NOTATIONS

MAKE =LINE TEST= AT 1400 ON
3000 SCALE. NOTE 1
MAKE =LINE TEST= AT 1400 ON
3000 SCALE. NOTE 1
MAKE =LINE TEST= AT 1400 ON
3000 SCALE. NOTE 1

PENT NO.1l. MAKE =LINE

TEST= AT 1300 ON 3000 SCALE.
PENT. ND.2

MAKE =LINE TEST= AT 1400 ON
3000 SCALE. NOTE 1

=L INE TEST= AT 1400 ON
SCALE. NOTE 1

=LINE TEST= AT 1300 ON
SCALE.

=LINE TEST= AT 1400 ON
SCALE. NOTE 1

MAKE
3000
MAKE
3000
MAKE
3000

TETRODE NO.l. MAKE =LINE
TEST= AT 1350 ON 3000 5CALE.
TETRODE NO.Z

MAKE =LINE TEST= AT

1400 ON 3000 SCALE. NOTE 1

MAKE
1400
MAKE
31000

HOLD
MAK E

3000

=LINE TEST= AT
ON 3000 SCALE.
=LINE TEST= AT
SCALE. NOTE 1.
DOWN Pl AND PRESS P&,
=_[NE TEST= AT 1350 ON
SCALE.

NOTE 1
1400 ON

CAP=P ON ADAPTER. MAKE

=LINE TEST= AT 1300 ON 3000
SCALE. HOLD DOWN Pl AND
PRESS P4,

MAKE =LINE TEST= AT 1300 ON
3000 SCALE. HOLD DOWN Pl AND
PRESS P4,

CAP=P ON ADAPTER. HOLD

DOWN P1 AND PRESS P4&. MAKE
=LINE TEST= AT 1350 ON 3000
SCALE.

CAP=F ON ADAPTER. HOLD

DOWN P1 AND PRESS P&, MAKE
=LINE TEST= AT 1300 ON 3000
SCALE.

CAP=P DN ADAPTER
HOLD DOWW Pl AND
MAKE =LINE TEST=
A000 SCALEs

MAKE =LINE TEST=
3000 SCALE.
PRESS P4,

PRESS P&
AT 1300 ON

AT 1300 ON
HOLD DOWN P1 AND

CAP=P ON ADAPTER. SET
=NORMAL-LIFE TEST= SWITCH TO
=LIFE TEST= POSITION.

SET =NORMAL-LIFE TEST= SWITCH
TO =LIFE TEST= POSITION.

MAKE=LINE TEST=
3000 SCALE.

SET =NORMAL-LIFE TEST= SWITCH
TO =LIFE TEST= POSITION.

AT 1300 ON

. —
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